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e |[4BUER 123,000] (130, 710)] 96, 960] (104,670)|+[ 1, 210] (1,280)] x m#= 950] (1,020)] xm&E® (7,710) (70 x INE %)
-t 3 ' =B 130,710] (193,310)| 104, 670] (167,270)|+| 1,280 (1.810)| xmm= | 1,020] (1,550)| x mEx 7,710 70X MEE
e |12 2BR 193,310] (270,500)| 167, 270] (244, 460)|+| 1,810] (2,580)| xm#m= | 1,550 (2 320)| x &=
SED 5 270, 500 244, 460 +| 2580 xmgx | 2320 X IR
A e |4 EULER 88,630 (96,340)[ 71,270] (78,980)|+ 860]  (930)] xmmE =& 690]  (760)] xm#E= (7,710) (70 x INE %)
x| s & ® 96, 340| (158, 940)| 78,980| (141,580)|+ 930] (1,470)] x = 760] (1,290)| xE® 7,710 70X MEE
30A 4 1. 2BR 158,940| (236, 130)| 141,580| (218, 770)|+| 1,470] (2, 240)| xm#= | 1,200 (2, 060)| x mE*
FT |7 (g " 236, 130 218,770 +| 2,240 xmExE [ 2 060 X R
4 %L ER 71,800] (79,610)| 58 780] (66, 490)| + 690]  (760)] xmnE® 560]  (630)] xm#Ex (7,710) (70 x INE %)
KIPN 28
| 73 B & 79,510| (142, 110)| 66, 490] (129, 090)| + 760 (1,300)| x gk 630| (1,170)] x g 7,710 70 X IR E
40N 4 1. 2BR 142,110] (219,300)| 129,090] (206, 280)|+| 1,300] (2, 070)] xm#= | 1,170] (1,940)| x &=
FT |7 (g " 219, 300 206, 280 +| 2070 xmExR [ 1,940 X R
A e |4 EULER 67,620] (75,330)| 57,200 (64 910)]+ 650]  (720)] x & 550]  (620)] xm#x (7,710) (70 x INE %)
| 73 B & 75,330| (137,930)| 64 910] (127,510) ]| + 720] (1,260)| x gk 620] (1,150)| xpngsx 7,710 70 X IR E
50A 4 1. 2BR 137,930| (215,120)| 127,510 (204,700)|+| 1,260] (2,030)] xm#== | 1,150 (1,920)| x &=
FT |7 (g " 215,120 204, 700 +| 2,030 xmEx [ 1,920 X R
51 A e |4 EULER 59,270 (66, 980)| 50,690] (58, 300) |+ 570]  (640)] xmE=x 480]  (550)] xm#Ex (7,710) (70 x INE %)
| 73 B & 66,980| (129,580) 58, 300 (120, 900)| + 640| (1,170)| x gk 550| (1,080)| xpng® 7,710 70 X IR E
60N s | 2BR 129,580| (206, 770)| 120,900] (198,090)|+| 1,170] (1,940)| xm#= | 1,080 (1.850)| x &=
7w I3 206, 770 198, 090 +| 1,940 x g | 1,850 X g
61 A om |4 EULR 53 380 (61,090)[ 45 940] (53, 650)|+ 510]  (580)| x pngE 440 (510)| xmEE (7,710) (70x g &)
" 3 B R 61,090| (123 690)| 53 650| (116, 250) |+ 580 (1,110)] xmEx 510] (1,040)| x = 7,710 70 X MEE
0A 3g |1 2@E 123,690| (200,880)| 116,250 (193, 440)[+| 1,110] (1,880)| x &= [ 1,040 (1,810)| x mEHE
&e D I3 200, 880 193, 440 +| 1,880 xmgx | 1,810 X g
1A e |4 EULR 49,020] (56,730)[ 42,510] (50, 220)| + 470]  (540)| x g 400]  (470)| x Mg (7,710) (70x g &)
" 3 B R 56,730| (119,330)| 50,220| (112, 820)|+ 540| (1,070)| x gk 470] (1,000)| x pngx 7,710 70 X B
80A se 1. 2BR 119,330 (196,520) | 112,820[ (190,010)|+| 1,070] (1,840)] xmz= | 1,000 (1,770)] x mE=
&e D I3 196, 520 190, 010 +| 1,840 xmgx | 1,770 X g
81 A e |4 EULR 45,580 (53 290)[ 39,800 (47,510)]+ 430]  (500)| x pnEE 370]  (440)| x mgE (7,710) (70 x Mg )
" 3 B R 53,290| (115,890)| 47,610] (110, 110)|+ 500] (1,030)| x &k 440 (980)| xmEE 7,710 70 X B
A se 1. 2BR 115,890 (193,080) | 110,110] (187,300)|+| 1,030 (1,800)| x = 980| (1,750)| x mEx
&e D I3 193, 080 187, 300 +| 1,800 x g | 1,750 X g
o1 A e |4 EULR 39,430 (47,140)[ 34,220 (41,930)]+ 370]  (440)| x g 320 (390)| xmEsE (7,710) (70 x Mg )
Z 0t " 3 B R 47,140| (109, 740)| 41,930] (104,530)|+ 440 (970)] xmEE 390  (920)| xmE=® 7,710 70 X B
| 1004 g |1 28R 109, 740| (186,930)| 104,530| (181, 720) |+ 970| (1,740)| x mEE 920 (1,690)| xmEE
T D I3 186, 930 181,720 +| 1,740 x gz | 1,690 X g E
101A | o [AESER 37,520] (45,230)| 32,790] (40, 500)| + 360  (420)] x g 300]  (370)| xmEE (7,710) (70 x Mg )
i 3 ® R 45,230| (107,830)| 40,500] (103, 100)|+ 4200 (950)| x mEx 370]  (910)| xmEE 7,710 70 X MEE
oA ge |12 2BR 107,830| (185,020)| 103,100 (180, 290) [+ 950| (1,720)| x pnE& 910/ (1,680)| x &=
T D I3 185, 020 180, 290 +| 1,720 xmg#x | 1,680 X g
1A | pg [AESER 35,900 (43, 610)| 31,560] (39, 270)| + 330]  (400)| x mnEE 290  (360)| x Mgk (7,710) (70 x Mg )
i 3 ® R 43 610] (106,210)| 39,270] (101,870)|+ 400]  (940)] xmER 360]  (890)| xmEE 7,710 70 X MEE
1204 ge |12 2BR 106, 210| (183, 400) | 101,870] (179, 060) | + 940 (1,710)] xmEgx 890| (1,660)| xpEE
&T D I3 183, 400 179, 060 +| 1,710 x gz | 1,660 X g
1A | pg [AESLER 34,530] (42,240)| 30,520] (38, 230)| + 3200 (390)| xmnEE 280  (360)| x mgsE (7,710) (70 x Mg )
i 3 ® R 42,240| (104,840)| 38 230] (100, 830)|+ 390]  (920)] xmEx 350]  (880)| xmEE 7,710 70 X MEE
18304 ge |12 2BR 104,840 (182, 030)| 100, 830] (178, 020) |+ 920| (1,690)| x gk 880 (1,650)| x s
&T D I3 182, 030 178, 020 +| 1,690 xmEx | 1,650 X g
131A | o [AESLER 33,390 (41,1000 29,670] (37,380)|+ 310]  (380)] xmEE 270]  (340)| x mEE (7,710) (70 x Mg )
i 3 ® R 41,100] (103 700)| 37,380] (99, 980) |+ 380  (910)] xmER 340]  (880)| xmEE 7,710 70 X MEE
1404 e | 2ER 103,700 (180,890) 99,980 (177,170)| + 910| (1,680)| xmEx 880 (1,650)| xpnE®
T 7 w| [ 180,890 177,170 +[ 7. 680 X MEE | 1,680 X MEE
1A | og [+ BILER 32,370]  (40,080)| 28 900] (36, 610)]+ 300]  (370)| xmEE 260  (330)| xmEE (7,710) (70 x Mg R)
|7l & = 40,080| (102,680)| 36,610 (99, 210)|+ 370]  (900)| x =& 330  (870)] xm#Ex 7,710 70X MEE
1500 e | 2ER 102,680 (179,870)| 99, 210] (176, 400) | + 900| (1,670)| x gk 870| (1,640)| xpE=
&e 7 w| | 179,870 176, 400 +[ T X MEE | 1,640 X MAE
1514 | og |4 BHLLER 32,390 (40,1000 29, 130] (36, 840)| + 300]  (370)| xmEE 270 (340)| x mEE (7,710) (70 x Mg R)
|7l & = 40,100| (102,700)| 36,840] (99, 440) | + 370]  (900)| x =& 340 (870)] xm&Ex 7,710 70X MEE
160)\‘ 35 1. 2®R 102,700| (179,890)| 99, 440| (176, 630) [+ 900| (1,670)| xfnx 870 (1,640)| x gk
&e 7 w| | 179, 890 176, 630 +[ T X MEE | 1,640 X MAE
1614 | og |4 BHLER 31,570] (39,280)| 28 510] (36, 220)|+ 290  (360)| x mnEE 260  (330)| xmEE (7,710) (70 x Mg R)
|7l & = 39,280| (101,880)| 36,220] (98, 820)|+ 360]  (890)| x = 330]  (860)| xmEx 7,710 70X MEE
1704 e | 2ER 101,880 (179,070)| 98,820 (176,010)| + 890 (1,660)| x gk 860 (1,630)| xpnE®
T 7 w179, 070 176, 010 +[ 7. 660 < MEE | 1,630 X MEE
op |ABULR 30,820] (38, 530)| 27,930] (35, 640)|+ 280  (350)| x mnEE 260  (330)| xmEE (7,710) (70 x Mg R)
171A 3 B R 38,530| (101,130)| 35,640] (98, 240)|+ 350  (890)] x = 330]  (860)| xmEx 7,710 70X MEE
Bk g |1 2mE 101,130] (178,320)| 98, 240| (175, 430) | + 890 (1,660)| x ek 860 (1,630)| xpE=
g, I 178, 320 175, 430 +| 1,660 X NEE 1,630 X NEE




